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2006
ECONOMICS

Paper 1

Time : 3 Hours | { Maximum Marks @ 300

INSTRUCTIONS

Fach question is printed both in English and in Kannada.

Answers must be writien in the medium specified (English or
Kannada) in the Admission Ticket issued to you, which must
be stated clearly on the cover of the answer book in the space
provided for this purpose. No credit will be given for the
answers written in a medium other than that specified in the

Admission Ticket. In case of any doubt in the Kannada text,

please refer to English text.

This paper has four parts .

A 20 marks
B 100 marks
C 90 marks
D 90 marks

Marks allotted to each question are indicated in each part.

All questions in Part A, Part B and Part C are compulsory.
Answer any three questions in Part D,

& ee), ol BRtIIY Y@ CRIDoIUSR, & TE DLFD FATD
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PART A Axd=20
Answer each question in about 50 words. Each question carries 5 marks.
1. Explain cach of the following with the help of a diagram :
ta)  Producer surplus
(by Long-run equilibrium of a firm under perfect competition
{¢y  Phillips curve

{d) Income expansion path for a normal good
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PART B 10x10=1010

Answer each question in about 100 words. Each question ca rries 10 marks.

Define and distinguish between each of the jollneing pairs of technical

ferms
2. Devaluation and Depreciation of a national currency.
3. Fixed exchange rate system and Floating exchange rate system.
4. Incidence of a tax and Shifling of a tax.
5. Pure privale good and Pure public good.
6. Trade creation effect and Trade diversion effect in international trade.
7. Personal income distribution and Functional income distribution,
& Tariff barricrs and Non-tariff barriers to international trade.
9. FElasticity of demand and Elasticity of substitution.
10. Accounting profits and Fconomic profits.

11. First Theorem and Second Theorem of Welfare Keonomics.
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PART C Ox15=90
Answer vach question in about 150 words. Each question carries

15 marks.

12. Distinguish between the programmes of the International Monctary Fund
and the World Bank.

13. Explain the price and output determination of a firm in the short-run and
the long-run under non-discriminatory monopoly.

14. Explain the methods of estimation of National Income in a closed
economy. Comment on the uscfulness of national income as @ single
indicator of national cconomic growth und welfarc.

15. Distinguish between ‘Indifference curve’ and ‘Indifference map'. Explain

the major properties of indifference curves in the micro-cconomic theory

of consumer behaviour and demand.
16. Analyse the macro-cconomic relationship between  wage rigidity and
aggregate uncemployment.

r-]

17. Consider the following data on the consumption of a commodity (X

!_NUI]'IHI“JGI' of units of X [Tt'_l__tial utility from consumption of X

_ 0 0

- 1 80
2 180
3 | 270 B
4 280 i
D i 250

Using the above data, answer the following : I

(a) Find out the average utility for each number of units of
consumption of X.

(53 Find oul the marginal utility for each number of units of
consumption of X.

¢} When does the consumer reach equilibrium, if the price per unit of
X is equal to Rs. 10 7
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PART D 3x30=90
Answer any three of the following questions, each in about 300 words

Each question carries 30 marks.

18. Explain the macro-economic equilibrium of an cconomy in terms of the
Keynesian IS-LM model.

19. Analyse the bases for international trade by the use of the
Heckscher-Ohlin model of international trade.

20. Explain Solow’s model of cconomic growth. Distinguish the determinants
of  long-term  ecomomic growth hbetween  Solow’s  model  and  the
Harrod-Domar model.

21. Analyse the major macro-economic objectives and instruments of fiscal
and monetary policy in a developing country. Do you think thal monetary
and fiscal policies have independent effects on  macro-economic
objectives ?

92. What docs a ‘Banking System’ mean ? Distinguish the rele of a banking
system in a plunned economy and a market economy. Do you think that a
dercgulated banking system is consistent with a planned economy ?
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2006
ECONOMICS

Paper 2

Time : 3 Hours | [ Maximum Marks : 300

INSTRUCTIONS

Each question is printed both in English and in Kannada.

Answers must be written in the medium specified (English or
Kannada) in the Admission Ticket issued to you, which must
be stated clearly on the cover of the answer book in the space
provided for this purpose. No credit will be given for the

answers written in a medium other than that specified in the

Admission Ticket. In case of any doubt in the Kannada text,

please refer to English text.

This paper has four parts :

A 20 marks
B 100 marks
C 90 marks
D 90 marks

Marks allotied to each question are indicated in each part,

All questions in Part A, Part B and Part C are compulsory.
Answer any three guestions in Part D,
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PART A Ax5=20
Answer each question in about 50 words. Each question carries 5 marks.

Explain  the main  features of each of the following recent policy
initiatives or recommendations in the Indian economy

(a)  Special Economic Zones
(1) Fiscal Responsibility and the Budget Management Act
(¢}  Outcome Budget

{d)  Producer Price Index



(

2

08/2

4xh

ToTR

hET o
w04,

o

o

1%

EATYS'E03,
ehviatayl

VR o .

T T2OND

i3 3

ﬁu _(lw PJIMO,W rT

a8 R
v 3
,wu w o1
&9 £2) \.w
3 T3 S
5 w3

[Turn over



08/2

{4)

PART B 10x10=100

Answer each question in about 100 words. Each question carries 10 marks.

Highlight the main features of the Approach Paper to the Eleventh Five
Year Plan of India.

Explain the construction of Index of Industrial Production in India. In
what ways is this Index used as a measure of industrial growth in the
country ?

Explain the current composition and definition of unorganized enterprises
in India.

Define the revenue deficit of the Government of Karnataka. Kxplain the
major policy reforms to contain this deficit in the current Medium Term
Fiscal Plan of the State.

Distinguish the functions of the National Development Council and the
Planning Commission in India's economic planning.

Explain the major objectives and strategies of Karnataka’s New
Industrial Policy, 2006 - 2011.

Consider the following basic data from India’s National Accounts
Statistics :

| Macro-economic variable Value (Rs. in crore)
1. Gross JFixed Capital Formation 282516
2. Changes in stocks 5428
3. Consumption of Fixed Capital 156474

Using the above data, define and compute the following variables :
ta)  Gross Capital Formation
thi Net Fixed Capital Formation

fer  Net Capital Formation
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9. Explain the recommendations of the 12" Finance Commission for
tax-sharing between the Central Government and State Governments.

10. Describe the recenl irends in major componenis of India’s services
exports.

11. Explain the official methodology and economic objectives of the
construction of real effective exchange rate in India.
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Answer euch question in about 150 words. Each question carries

156 marks.

12, Explain the main features of the Agreement on Textiles and Clothing
under the WTO. What steps have been taken by the Government of india
to prepare the Textile and Clothing sector to mect the challenges of this
Agreement.

13. How do Indian planners estimate ‘Consumption Poverty’ ? Does this
estimation distinguish the incidence of poverty by rural and urban India ?
If yes, what do the estimates imply for the relative magnitude of poverty
in rural and urban India in the 1990s ?

14. Explain the major instruments for controlling commercial bank credit to
the Priority and Non-priority scctors in India. Are these instruments
applicable to cooperative credit institutions as well as private Indian and
forcign commercial banks in India ?

15. Analyse the policy definition of and the main reasons for sickness in
small-scale industries in India. Explain the national level policy responses

1o overcome the problem of sickness in small-scale industries since 1995.

16. Explain the official methodology for the determination of the annual rates
of price inflation in India.
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17. Consider the following basic data from India’s National Accounts

Statistics :
Macro-economic variable Value
(Rs. in crore)

1. Gross Domestic Product at market prices 2760025
2. Indirect taxes 322882
3. Subsidies 82642
4. Consumption of fixed capital 253637
5. Net factor income from abroad — 14078
6. Other current transfers from the rest of the world (net) 104820

Using the above data, define and compute the following variables at
market prices :

{a}  Gross Domestic Product at factor cost
(h}  Gross National Product at factor cost
tc)  Net Domestic Product at factor cost
(d}  Net National Product at factor cost

{e) Net National Disposable Income



08/2

(1)

2760025

—
o,

\

A

~
W

$ BRY nE ¢

[

3 39N

-
w

52T

1.

A

322882

L.

8264

et

3

= F
A

3.

i
"

253637
—— 14078

OETE D 06T

~l

it b

EJCC.‘;J ?.‘-ES}* [k Eﬁu.iboj

o =
&EeT

[

=
o
o &)
T
=
—

(e

[Turn ove!



0&/2

18.

19.

20.

21.
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PART D

-I))X13():‘90

Answer any three of the following questions, eqch in about 300 words.

Each guestion carries 30 marks.

What does *Humun Development mean ? How is humap development

measured

at the nationa] level and in Karnataky State ? What are the

policy implications of changes in the growth of human development in

India ?

What s the international ranking of India m  Human

Development in 2005 ?

Explain the different concepts of ‘Employment’ and ‘Unemployment’ n

India. Describe the major national leve] employment

rogrammes in India since 1995
prog

generation

Describe the major non-crodii subsidies for the Agricultural sector at the

national leve) in India. Does  the Government of Karnataka offer

additional
State ? If

non-credit  subsidies (g the agricultural sector within the

50, explain these subsidies,

Explain the objectives of thoe Public Procurement Policy for

and the ?

that these

ublic Distributjon System of toodgrains in India. Do

foodgrains,

you think

policies are related to each other 2 Iy yes, explain how.
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22, Consider the following basic data from India’s Balance of Payments and
Public Finances of the Government of India -

Variahle Value (Rs. in cmr(j)
at current prices
1. Imports 532969
2. Exporis 368427
3. Receipts under invisibles 3218561
4. Payment under invisibles 182095
5.  Net foreign investment 54260
6. Net loans 47938
7. Net banking capital 17083
8. Other capital inflows (net) 21412
9. Total revenue expenditure 384351
10. Tolal capital expenditure 113331
11. Total revenue receipts 306013
12. Tolal capital receipts
( = Borrowings and other liabilities loans) 125202
13. Total non-debt capital reccipts 66467
14. Total interest payments 126934

Using the above data, define and compute the following variables :
{a) Balance of trade

(b)  Current account balance

(¢c)  Overall Balance of Payments position

td1 Gross fiscal deficit

(e} Revenue deficit

(I Primary deficit
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